BID SUMMARY March 4, 2013

1. No. CC030413-02.1 – Canyon Lake Dam Reconstruction Vision 2012 Phase Four, Project No. PW08-1743 / CIP No. 50739 (Opened on February 26, 2013)

ADVERTISING AUTHORITY	\$3,518,875.00
ENGINEER'S ESTIMATE	\$3,825,400.00

	Base Bid
1. Scull Construction Service, Inc.**	\$3,721,141.21
2. ASI Constructors, Inc.**	\$4,887,430.00
3. Heavy Constructors, Inc.**	\$3,903,096.85
4. R.C.S. Construction, Inc.**	\$4,899,390.00

2. No. CC030413-02.2 - 30" Steel Water Main Cathodic Protection System (CPS) Rehabilitation, Project No. 12-2015 / CIP No. 50902 (Opened on February 26, 2013)

ADVERTISING AUTHORITY	\$225,000.00
ENGINEER'S ESTIMATE	\$225,000.00

1. Goudy Engineering, Inc.**

Base Bid
\$257,488.66

3. No. CC030413-02.3 - 2012 Annual 4" Watermain Replacement, Project No. 12-1925 / CIP No. 50835 (Opened on February 26, 2013)

ADVERTISING AUTHORITY	\$485,000.00
ENGINEER'S ESTIMATE	\$514,042.57

	Base Bid
1. Hills Materials Company**	\$452,590.45
2. R.C.S. Construction, Inc.**	\$462,183.50
3. Mainline Contracting, Inc.**	\$480,481.85
4. Quinn Construction, Inc.**	\$627,842.00
5. Site Work Specialists, Inc.**	\$480,405.08
6. Highmark, Inc.**	\$457,291.75

4. No. CC030413-02.4 - One (1) Package (Off-Sale) Liquor License (Opened on February 25, 2013)

	Base Bid
1. Fresh Start Convenience Stores, Inc.*	\$25,500.00
2. Target Corporation*	\$10,501.00

^{*} Cashier's Check, Money Order or Bank Draft Submitted

^{**} Bid Bond Submitted

BID AWARD SUMMARY

LETTING DATE: February 26, 2013

PROJECT: Canyon Lake Dam Reconstruction Vision 2012 Phase Four

Project No. PW08-1743 / CIP No. 50739

RECOMMENDATION: Award Total Bid in the amount of \$3,721,141.21using \$3,514,103.00 of the Vision 2012 Phase Four, \$107,038.21 of the Vision Municipal Infrastructure Contingency, and \$100,000.00 of the West Dakota Water Development District Funds to Scull Construction Service, Inc. at the March 18, 2013 Council Meeting.

BIDDERS' SUMMARY

TOTAL DID

TOTAL BID
\$3,721,141.21
\$3,903,096.85
\$4,887,430.00
\$4,899,390.00

FUNDING SOURCE

ADVERTISING AUTHORITY

CONTRACTORS

ENGINEER'S ESTIMATE

TOTAL	Vision 2012 Phase Four
\$3,518,875.00	\$3,518,875.00
\$3,825,410.00	

APPROPRIATION DATA:

FUNDING SOURCE
COST CENTER
LINE ITEM
FUNDING CENTER
BID AMOUNT

TOTÁL	Vision 2012 Phase Four	Vision Municipal Infrastructure Contingency	Recovery of Direct Expenses
	0122	0122	0085
	4390	4390	3407
	0107	0107	0107
\$3,721,141.21	\$3,514,103.00	\$107,038.21	\$100,000.00

PROJECT MANAGER:

Keith Johnson City of Rapid City DATE:

3/7/13

PROJECT NAME: CANYON LAKE DAM RECONSTRUCTION VISION 2012 PHASE FOUR

PROJECT NUMBER: PROJECT NO. PW08-1743 / CIP NO. 50739

LET DATE: FEBRUARY 26, 2013

LOW BID AMOUNT: \$3,721,141.21

			ENGINEER'S ESTIMATE		SCULL CONSTRUCTION SERVICE, INC.		HEAVY CONSTRUCTORS, INC.		ASI CONSTRUCTORS, INC.		R.C.S. CONSTRUCTION, INC.		
ITEM NO.	. DESCRIPTION OF ITEM	UNIT	QTY (EST)	UNIT COST	TOTAL COST	UNITICOST	TOTAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST
1	CONSTRUCTION STAKES, LINES & GRADES	LS	1.00	\$13,000.00	\$13,000.00	\$12,070.79	\$12,070.79	\$9,787.39	\$9,787.39	\$30,000,00	\$30,000,00	\$20,000.00	\$20,000.00
-2	MOBILIZATION	LS	1.00	\$120,000.00	\$120,000.00	\$50,900.98	\$50,900.98	\$161,887.16	\$161,887.16	\$100,000,00	\$100,000.00	\$600,000.00	\$600,000.00
3	DEMOBILIZATION	LS	1.00	\$120,000.00	\$120,000.00	\$3,882.11	\$3,882.11	\$32,793.22	\$32,793.22	\$45,000.00	\$45,000.00	\$20,000.00	\$20,000.00
4	REGULATORY REQUIREMENTS	LS	1.00	\$3,800.00	\$3,800.00	\$6,470.19	\$6,470,19	\$4,442.10	\$4,442.10	\$55,000.00	\$55,000.00	\$40,000.00	\$40,000.00
5	TEMPORARY TRAFFIC CONTROL	LS	1.00	\$6,300.00	\$6,300.00	\$1,526.96	\$1,526.96	\$1,312.41	\$ 1,312.41	\$2,500.00	\$2,500.00	\$44,000.00	\$44,000.00
6	TREE REMOVAL	ΕA	10.00	\$570.00	\$5,700.00	\$194.11	\$1,941.10	\$55.61	\$556.10	\$500.00	\$5,000.00	\$600.00	\$6,000.00
7	DEMOLITION & REMOVAL-SOUTH PARKING LOT	LS	1.00	\$12,000.00	\$12,000.00	\$7,246.61	\$7,246.61	\$3,336.61	\$3,336.61	\$7,500.00	\$7,500.00	\$9,000.00	\$9,000.00
8	DEMOLITION & REMOVAL- SIDEWALK	LS	1.00	\$5,000.00	\$5,000.00	\$3,882.11	\$3,882.11	\$1,668.31	\$1,668.31	\$1,800.00	\$1,800.00	\$6,000.00	\$6,000.00
9	DEMOLITION & REMOVAL-ABUTMENT WALLS	LS	1.00	\$111,000.00	\$111,000.00	\$30,510.82	\$30,510.82	\$66,732,26	\$66,732.26	\$125,000.00	\$125,000.00	\$20,000.00	\$20,000.00
10	DEMOLITION & REMOVAL-SPILLWAY	LS	1,00	\$297,000.00	\$297,000.00	\$89,935.63	\$89,935.63	\$66,732.24	\$66,732.24	\$85,000.00	\$85,000.00	\$50,000.00	\$50,000.00
11	DEMOLITION & REMOVAL-EXCESS CONCRETE	CY	- 20.00	\$130.00	\$2,600.00	\$77.64	\$1,552.80	\$33.37	\$667,40	\$75.00	\$1,500.00	\$30.00	\$600.00
12	SALVAGE-UNDERGROUND IRRIGATION SYSTEM	LŞ	1.00	\$3;800,00	\$3,800.00	\$5,434.96	\$5,434.96	\$4,279.76	\$4,279.76	\$5,000.00	4	\$5,000.00	\$5,000.00
13	SALVAGE- SMALL PARK STRUCTURES	ĽS	1.00	\$5,100.00	\$5,100.00	\$647.02	\$647.02	\$2,892.09	\$2,892.09	\$7,500.00	\$7,500.00	\$6,500.00	\$6,500.00
14	DOWNSTREAM ROCK DIKE	EA :	1.00	\$17,800.00	\$17,800.00	\$14,234.42	\$14,234,42	\$27,805,12	\$27,805.12	\$30,000.00	\$30,000.00	\$30,000.00	\$30,000.00
15_	FLOATING SILT CURTAIN	LF	100.00	\$25.00	\$2,500.00	\$32.35	\$3,235.00	\$33.41	\$3,341.00	\$100,00	\$10,000.00	\$35.00	\$3,500.00
16	SILT FENCE	LF	800,00	\$4.00	\$3,200.00	\$5.82	\$4,656.00	\$5.56	\$4,448.00	\$7.00	\$5,600.00	\$6.00	\$4,800.00
17	ROCK CONSTRUCTION ENTRANCE	EA	3.00	\$800.00	\$2,400.00	³ \$776.42	\$2,329.26	\$1,668.31	\$5,004.93	\$2,000,00	\$6,000.00	\$1,600.00	\$4,800.00

18	INLET PROTECTION	EA	4.00	\$100.00	\$400.00	\$323.51	\$1,294.04	\$111.22	\$444.88	\$500.00	\$2,000.00	\$350.00	\$1,400.00
19	COFFERDAMS AND DEWATERING	LS	1.00	\$374,000.00	\$374,000.00	\$540,519.61	\$540,519.61	\$434,759.64	\$434,759.64	\$625,000.00	\$525,000.00	\$550,000.00	\$550,000.00
20	CLASS II RIPRAP	CY	500.00	\$60.00	- \$30,000.00	\$51.76	\$25,880,00	\$77.85	\$38,925.00	\$75.00	\$37,500.00	\$125.00	\$62,500.00
21	SALVAGE AND REUSE EXISTING RIPRAP	CY:	40.00	\$40.00	\$1,600.00	\$25,88	\$1,035,20	\$24.47	\$978.80	\$20.00	\$800.00	\$25.00	\$1,000.00
22	DRAINAGE FABRIC	SY	400.00	\$3,00	\$1,200,00	\$4.53	\$1,812.00	\$3.34	· · · · · ·				
23	FOUNDATION GROUTING-INITIAL DRILLING	LF	Ŀ			:			\$1,336.00	\$3.00	\$1,200.00	\$5.00	\$2,000.00
			2,100.00	\$89.00	\$186,900.00	\$64.70	\$135,870.00	\$55.61	\$116,781.00	\$110,00	\$231,000.00	\$85.00	\$178,500.00
24	FOUNDATION GROUTING-RE-DRILLING	LF	2,100.00	\$30,00	\$63,000.00	\$51.76	\$108,696.00	\$44.49	\$93,429.00	\$6.00	\$12,600.00	\$37.00	\$77,700.00
25	FOUNDATION GROUTING-GROUT	CF	12,600.00	\$25.00	\$315,000.00	\$43.03	\$542,178.00	\$36.98	\$465,948.00	\$6.00	\$75,600.00	\$40.00	\$504,000.00
26	BEDROCK SUBGRADE PREPARATION	SY	1,060.00	\$30.00	\$31,800.00	\$4.53	\$4,801.80	\$25.01	\$26,510.60	\$32.00	\$33,920.00	\$6.50	\$6,890.00
27	ROCK EXCAVATION	CY	34.00	\$270,00	\$9,180.00	\$58.23	\$1,979.82	\$124,60	\$4,236,40	\$240,00	\$8,160.00	\$125.00	\$4,250.00
28	SOIL SUBGRADE PREPARATION	CY	960,00	\$38.00	\$36,480.00	\$3.88	\$3,724,80	\$29.16	\$27.993.60	\$90.00	\$86,400.00	\$25.00	\$24,000.00
29	SOIL RECOMPACTION OVER BYPASS PIPE	LS	1.00	\$2,500.00	\$2,500.00	\$2,588.08	\$2,588.08	\$2,224.41	\$2,224.41	\$2,000.00	\$2,000.00	\$2,000.00	\$2,000.00
30	CONSTRUCT SILT REMOVAL ACCESS	LS	1.00	\$21,000.00	\$21,000.00	\$12,293.36	\$12,293.36	\$52,846.82	\$52,846.82	\$15,000.00	\$15,000.00	\$40,000,00	\$40,000.00
31	SILT REMOVAL	CY	12,000.00	\$23.00	\$276,000.00	. \$11.65	\$139,800.00	\$22.24	\$266,880.00	\$21.00	\$252,000.00	\$30.00	\$360,000.00
32	STEEL SHEET PILE-PERMANENT PZ22	SF	1,950.00	\$38,00	\$74,100.00	·\$116,13·	\$226,453.50	\$48.10	\$93,795.00	\$100.00	\$195,000.00	\$40.00	\$78,000.00
33	NORTH AND SOUTH ABUTMENT WALLS	LS	1.00	\$509,000.00	\$509,000.00	\$440,084.82	\$440,084.82	\$578,594.12	\$578,594.12	\$1,000,000,00	\$1,000,000.00	\$500,000.00	\$500,000.00
34	SPILLWAY AND STILLING BASIN	LS	1,00.	\$776,000.00	\$776,000.00	\$796,197.73	\$796,197 <i>.</i> 73	\$875,641.98	\$875,641.98	\$1,385,000.00	\$1,385,000.00	\$1,150,000.00	\$1,150,000.00
35	WEIR WALL EXTENSION AND REPAIR	LS	1.00	\$11,800,00	\$11,800.00	\$17,462.45	\$17,462.45	\$41,656.63	\$41,656.63	\$61,000.00	\$61,000.00	\$20,000.00	\$20,000.00
36	SOUTH PARKING LOT	LS	1.00	\$37,000.00	\$37,000.00	\$43,832.94	\$43.832.94	\$57,436,06	\$57,436.06	\$45,000.00	\$45,000.00	\$55,000,00	\$55,000,00
37	SIDEWALKS AND RAMPS	LS	1.00	\$12,900.00	\$12,900.00	\$71,670,44	\$71,670,44	\$31,168,33	\$31,168.33				
-	CONCRETE BLOCK WALL AND GRAVEL PATH	LS	1.00	\$98,000.00	\$98,000,00	\$89,935,63	\$89,935,63	\$117,893.65	\$117,893.65	\$38,000.00 \$125,000.00	\$38,000.00 \$125,000,00	\$25,000.00 \$80,000.00	\$25,000.00
39	FINAL GRADING, SEEDING, AND LANDSCAPING	LS	1.00	\$18,000.00	\$18,000,00	\$18,116.53	\$18,116.53	\$26,622,83	\$26,622,83	\$125,000.00	\$125,000.00	\$50,000.00	\$80,000.00
	PAVEMENT REPLACEMENT - N PKNG/CAN LK DR	SY	3,100.00	\$45,00	\$139,500.00	\$55.92	\$173,352.00	\$37.43	\$116,033.00	\$40.00	\$124,000.00	\$50,000.00	\$155,000.00
41	CURB REPLACEMENT - N PKNG/CAN LK DR	LF	2,370.00	\$15.00	\$35,550.00	\$15.33	\$36,332.10	\$6.67	\$15,807.90	\$5.00	\$11,850.00	\$15.00	\$155,000.00

42	REMOVE SILT FROM POND SYSTEM	CY:	80.00	\$60.00	\$4,800.00	\$25,88	\$2,070,40	\$22.24	\$1,779.20	\$20.00	\$1,600.00	\$50.00	\$4,000.00
43	CANYON LAKE PUMPING	DAYS	15.00	\$1,500.00	\$22,500.00	\$2,588.08	\$38,821.20	\$823.42	\$1 2, 351.30	\$5,000.00	\$75,000.00	\$4,000.00	\$60,000.00
44	BEDROCK SUBGRADE DENTAL GROUTING	CF	60.00	\$100,00	\$6,000.00	\$64.70	\$3,882.00	\$55.61	\$3,336.60	\$90.00	\$5,400.00	\$40.00	\$2,400.00
TOTAL					\$3,825,410.00		\$3,721,141.21		\$3,903,096.85		\$4,887,430.00		\$4,899,390.00

CITY OF RAPID CITY

Reviewed by:

Keith Johnson City of Rapid City